
4141

BAS-311HN/326H-403

J. / Thread trimmer mechanism

29

20

22

31

33

12

3

34

4

32

19

22

23

21

23

2

126

10 11

15
18

1716

2

27

24

30

28

51

49

65
70

72
65
71
64

64

52

71

55

48

36

37

38 39

39

35
47

41

40

42

42

46

50

44
45

38

43

56

57

53

62
61
60

58

59

68
66+ 69

63+

25

139
8

14

6 5
7

54

65
64

67

41

BAS 311HN - 326H



42

J. 糸切り関係 / Thread trimmer mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

62 S00705001 1 イドウハカラ- MOVABLE KNIFE COLLAR
63+ P.73 1 コテイハFL FIXED KNIFE FL
64 062300416 6 ナベコ3X4 SCREW PAN M3X4
65 SB3847001 6 ヒラザガネチュウ3 WASHER_PLAIN_M_3
66+ P.73 1 ハリアナイタ2.2 NEEDLE HOLE PLATE 2.2
67 100360003 2 サラネジ2.38 SCREW
68 S25310101 2 サラネジ4 SCREW, FLAT M4
69 SA3538001 2 シメネジ4X8 SCREW,M4X8
70 SA6273101 1 オオカマカバ-フツクU SHUTTLE RACE COVER HOOK U
71 028030246 4 バネザガネ2-3 WASHER SPRING 2-3
72 SB0713001 1 シタイトオサエバネ BOBBIN THREAD CLAMP SPRING

BAS-311HN/326H-403

BAS 311HN - 326H



3737

BAS-341H/342H-403

J. / Thread trimmer mechanism

24

25

28

30

12

3

31

4

29

23

25

26

26

12
17

10 11

19 22

2120

2

15

27

18

16

51

36
41

54

55

35

41

37

39

34
32

44
43

43

42

40

53

50
49
48

45

46
47

38

48
49 50

33

139
8

14

6 57

52

40

38 39

63
67 66

63
68
6262

68
59
58
57

56

6964
70

65

61

63

62

60

BAS 341H - 342H



38

J. 糸切り関係 / Thread trimmer mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

60 SA6596001 1 イドウハFセット MOVABLE KNIFE SET F
61 SA7944101 1 コテイハFL FIXED KNIFE FL
62 062300416 6 ナベコ3X4 SCREW PAN M3X4
63 SB3847001 6 ヒラザガネチュウ3 WASHER_PLAIN_M_3
64 SA3336101 1 ハリアナイタ2.4C0.4 NEEDLE HOLE PLATE 2.4C0.4
65 100360003 2 サラネジ2.38 SCREW
66 SB0713001 1 シタイトオサエバネ BOBBIN THREAD CLAMP SPRING
67 SA6273101 1 オオカマカバ-フツクU SHUTTLE RACE COVER HOOK U
68 028030246 4 バネザガネ2-3 WASHER SPRING 2-3
69 S25310101 2 サラネジ4 SCREW, FLAT M4
70 SA3538001 2 シメネジ4X8 SCREW,M4X8

BAS-341H/342H-403

BAS 341H - 342H


